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Time : 3Hrs.

Full Marks   : 70

Pass Marks : 28

Answer all 20 questions from Group A, each question 

carries 1 marks.

Answer all five questions from Group B, each question 

carries 4 marks.

Answer all five questions from Group C, each question 

carries 6  marks.

All parts of a question must be answered at one place in

sequence, otherwise they may not be evaluated.

The figure in right hand margin indicate marks.
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a = 3i + 2J + K , 

¬¬¬¬

b = 4i + J + 5K 

¬¬¬¬

(a x b)  

¬¬

(a + b)  

¬¬

OR()

If the magnitude of a vector R is 2Ö3 and inclined at
equal angles to its three axis then find vector R.

®
®

®

®

A force of 50 dyne is acting at a point P(3,5,7) in the

direction of                         . Due to this force point
P is displaced to point Q(7,2,4). Find the work done.

then find the angle between             and  

11.

(2i + 2j + k)
®®®

(2i + 2j + k)
®®®

OR()

a = 3i + 2J + K , 

¬¬¬¬

b = 4i + J + 5K 

¬¬¬¬

(a x b)  

¬¬

(a + b)  

¬¬

***

6
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1. Choose the most suitable answer from the following

options :1x20=20

(ii)

(i)

(i)Find the value of 

(a) 16

(b) 20

(c) 26

(d) None of there

(a) 1

(b) 0

(c) 2

(d) None of these

[             ]
-2

(  )1
4

-2
(  )1

2 +

[             ]
-2

(  )1
4

-2
(  )1

2 +
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9. For any triangle ABC, Prove that 

          
(b) For any DABC, Prove that

B-C
2

b-c
b+c[        ] [       ]= Cot  A2

Tan 

B-C
2

b-c
b+c[        ] [       ]= Cot  A2

Tan 

OR( )

Cos      = A
2

s(s-a)
bcÖ Where s = 

a+b+c
2

2 2-1 -1 -1Sin x + Sin y = Sin [xÖ1-y  + yÖ1-x  ]

Cos      = A
2

s(s-a)
bcÖ a+b+c

2

Find the term independent of x in the expansion of 10.

1
3x

2
3x
2

-[                 ]
6

1
3x

2
3x
2

-[                 ]
6

6

6

2 2-1 -1 -1Sin x + Sin y = Sin [xÖ1-y  + yÖ1-x  ]
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(iii)

(iii)

(iv)

(ii)
14 7

[log  - log ] 2 2

Evaluate the Determinant 

(a) 0
(b) 2
(c) 1
(d) None of these

q  = .............

0
(a) 90

0(b) 45
0

(c) 60
(d) None of these

Cos q   - Sin q

Sin q       Cos q

Cos q   - Sin q

Sin q       Cos q

Cos q   - Sin q

Sin q       Cos q

1     0

0     1
 =

N2010N2010
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(v)

(v)

(iv)

1
If  A =                        find (A + A)

(a)  

(b)  

(c)  

(d)   None of these

Cos q   - Sin q

Sin q       Cos q

1     0

0     1
 =

[        ]
3
2

4
3

[        ]
6
6

6
6

[        ]
3
2

4
3

[        ]
1
3

0
1

[        ]
3
2

4
3

[        ]
6
6

6
6

[        ]
3
2

4
3

[        ]
1
3

0
1
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8.

6

If A =                   , B =                    , C =  

 

          C =

vertices are A(0,0), B(5,2) and C(4,7).

A(3,4), B(5,2) and C(7,8).

OR()

3
1
3

2
2
2

1
2
1 [                ]

3
2
4

0
1
2

1
3
2 [                ]

8
3
2

2
2
3 

1
2
2 [                ]

Then find [ 2(AxB)I - 5(BxC) ]

3
1
3

2
2
2

1
2
1 [                ]

3
2
4

0
1
2

1
3
2 [                ]

8
3
2

2
2
3 

1
2
2 [                ]

OR()

N2010 N2010
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OR( )

a = 5i + 2J + 3K , 

¬ ¬ ¬ ¬

b = 2i + 3J + K 

¬ ¬ ¬ ¬

c =  3i + 2J + 7K 

¬ ¬ ¬ ¬

(a x b) . (b x c)  

¬ ¬ ¬ ¬If                                                           and  
                             then calculate
  

a = 5i + 2J + 3K , 

¬ ¬ ¬ ¬

b = 2i + 3J + K 

¬ ¬ ¬ ¬

c =  3i + 2J + 7K 

¬ ¬ ¬ ¬

(a x b) . (b x c)  

¬ ¬ ¬ ¬

7.

Answer all Five Questions. 
5x6 =30

Solve the following equation by Matrix method:
x  + x  + x  = 91 2 3

x  - x  + x  = 31 2 3

and x  + x  - x  = 11 2 3

x  - x  + x  = 3  1 2 3

x  + x  - x  = 11 2 3

6
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(vii)

(vi) n(n-1) (n-2) (n-3) ............. 6 x 5 x 4 = ........

(a) 

(b)  

(c) 

(d)  None of these

n(n-1) (n-2) (n-3) ............. 6 x 5 x 4 = ........

(a) 1

(b) 2

(c) 3

(d)  None of these

(vi)

n

3 

n - 3

n - 4

n

3 

n - 3

n - 4

N2010N2010
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(a)  320
(b)  322
(c)  325
(d)  None of these

n-1
(a) 2 

n-2
(b) 2

n
(c) 2

(d) None of these

(vii)

[          ]
265

C x C 25

[          ]
265

C x C 25
(viii)

(viii)

(ix)
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                                  Tan (13A).Tan (9A).Tan (4A)

                                  Tan (13A).Tan (9A).Tan (4A)

joining the points (5,7) and (3,5) as diametre.

5.

OR()

6.

4

4

-1-1      -1      
Tan       + Tan    -  Tan    = 

p
4

3
4

3
5

8
19

(  )(  )(  )

-1-1      -1      
Tan       + Tan    -  Tan    = 

p
4

3
4

3
5

8
19

(  )(  )(  )

N2010 N2010
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4

Find the partial fraction of 

(b, c+a) and (c, a+b) are collinear. 

intersection of lines 2x + 3y + 4 = 0 and 
3x - 5y - 13 = 0 and perpendicular to the st. line
x - 2y + 7 = 0

8x - 4
2

3x  - 2x -1[                  ]

8x - 4
2

3x  - 2x -1[                  ]

3.

OR( )

n n-1
P  = n . Pr r-1

n n-1
P  = n . Pr r-1

4.
1
x(          )

31
22x  + 

1
x(          )

31
22x  + 

OR( )

4

OR( )
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n n n n n
C  + C + C + C +.............+ C = .......  0 1 2 3 n  

0Tan 240  = ..............

(a) 3

(b) 1

(c) 0

(d) None of above

(a) Sin A

(b) Sin C

(c) Cos C

(d) None of above

(ix)

(x)

(x)

(xi)

N2010N2010
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ABCSin (A+B) = ....

Sin 2A

(a) 

(b) 

(c) 

(d)  None of these

3
5

3
25

4
5

24
25

3
5

3
25

4
5

24
25

(xi)

(xii)

(xii)

Answer all Five Questions. 

2.

4x5 =20

If                         = log a + log b   then show that 

b = i  + J

¬¬¬
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If                                               then 
(a) 4
(b) 7
(c) 5
(d) None of these

(xx)

(xx)

a . b

¬¬

a = 2i  + 3J - K, 

¬¬¬¬

a = 2i  + 3J - K, 

¬¬¬¬

b = i  + J

¬¬¬

a . b

¬¬

2 log [         ] a+b
2

a
b

b
a

-= 2

2 log [         ] a+b
2

a
b

b
a

-= 2

4

is.......

N2010 N2010
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The centre of the circle
2 2

x  + y  - 6x - 8y + 3 = 0 is .................
(a)  (3, -4) 
(b)  (3, 4) 
(c)  (4, 3) 
(d)  None of these

x  + y  - 6x - 8y + 3 = 0

                             then   

(a)  
(b)  
(c)  
(d)  None of these

(xviii)

a = 3i - 2J + K, 

¬ ¬ ¬ ¬

b = 2i - 4J - 3K 

¬ ¬ ¬ ¬

c =  -i + 2J + 2K 

¬ ¬ ¬ ¬

a + b + c  

¬ ¬ ¬

a = 3i - 2J + K, 
¬ ¬ ¬ ¬

b = 2i - 4J - 3K 
¬ ¬ ¬ ¬

c =  -i + 2J + 2K 

¬ ¬ ¬ ¬

a + b + c  

¬ ¬ ¬

5Ö2
3Ö2
4Ö2

(xviii)

(xix)

(xix)

5Ö2

3Ö2

4Ö2
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-1 -1
Tan x + Cot x = ................

(a) 

(b) 

(c)
 
(d) None of them

-1 -1
Tan x + Cot x = ................

(a) 

(b)  1

(c)  0

(d)  None of these

(xiii)

p
4

p
2

p

p

p
4

p
2

1
2

(xiii)

(xiv)

N2010N2010
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(xiv)

c = 63 then value of Tan      is ...............

(b)

(c) 

(d)  None of these

b = 52c = 63Tan  

1
2

B
2

3
2
4
5

1
2

B
2

3
2

4
5

1
2

(xv)

(xv)

111602203/1601103/P1601103

P.T.O

The distance between two points A(6,7) and
B(1, -5) is .................
(a) 12
(b) 13
(c) 14
(d) None of these

A(6,7)B(1, -5)

passing through point (5,3) is .................
(a)  x-5 = 0
(b)  x+5 = 0
(c)  x-5 = 3
(d)  None of these

y - 

(xvi)

(xvi)

(xvii)

(xvii)

N2010 N2010


	1: 20-1
	2: 2-19
	3: 18-3
	4: 4-17
	5: 16-5
	6: 6-15
	7: 14-7
	8: 8-13
	9: 12-9
	10: 10-11

